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1. Shown at the right is one cycle of the graph of f(x)=sinx. List four important
properties of the sine ratio that are immediately obvious from the graph. (4 KU)
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2. Use the special triangles or the unit circle to evaluate each of the following. You must glve exact values. No
approximations will be accepted! (8 KU, 4 COM)
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4. State whether each of the following is true or false. Provide an explanation to support 7 each response. (6 TIPS, 3 COM)
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5. Solve the triangle shown at the rigﬂhl. (6 APP, 3 COM)
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6. Prove that cotxcscx(secx—1)= ! . (6 APP,3 COM)
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7. As a promotion for McDonald’s Canada, Ronald McDonald made a Gym AB
special guest appearance at a CPSS basketball game. At half time, he
stood at the centre of a rotating platform and used a pneumatic (air-
powered) cannon to fire free Big Macs toward the spectators.

(a) If the spectators are located 5 m from the centre of the rotating
platform and Ronald can fire the Big Macs a maximum distance of
7m, what length (in metres) of the seating area will be hit by Big
Macs? (5 APP,3 COM)
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(b) What area (in square metres) of the spectator seating will be hit with Big Macs? (Assume that the wall behind the
spectators is at least 7m away from the centre of the rotating platform.) (4 TIPS, 2 COM)
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